n* term of Linear Sequences

(\

— REVISE THIS
1S T

1 A linear sequence starts
3 6 9 12
Work out an expression for the nth term of the sequence. [1 marks]

Answer 3 Vb

2 A linear sequence starts

2 " 6 Hd
L] PR 8 10 12
-~

-~
+2 +2 12
Work out an expression for the nth term of the sequence. [2 marks]

Answer 2.“-’ "\' L\"

3 A linear sequence starts

3 e q I
-1 E 2 5 8 _ 1
+3 +3 +3

Work out an expression for the nth term of the sequence. [2 marks]

Answer 3“ - \
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4 A linear sequence starts

G g8 12 6
*Sh S 17 2

4 4 4
Work out an expression for the nth term of the sequence.

Answer
5 A linear sequence starts
[ 2 3 3
G, 5 9 10
-~ ~ —
+1 +1 +|

Work out an expression for the nth term of the sequence.

n+ 6

Answer
6 A linear sequence starts
- 3 \O \S 10
3 C 2 7 12 17
S ~3) =

+t§ +5 S
Work out an expression for the nth term of the sequence.

Sn -3

Answer
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7 A linear sequence starts

6 12 8 2%
""“""E; 50__ 56 __62__ 68

+6 t6 16
Work out an expression for the nth term of the sequence.

Answer 6 n + L\‘L\'

8 A linear sequence starts
o 20 30 &o
13 c) -3 7 17 27
-~ -~ -~
+i10 410 +10
Work out an expression for the nth term of the sequence.

Answer l DVL - l3

9 A linear sequence starts 5
0S5 { - 1
435G 4 45 5 55
S ~3)

-
+0-S 10-S 405
Work out an expression for the nth term of the sequence.

Answer OSN + ’SS
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10 A linear sequence starts 6
-1 -4 -6 -8
+1 E 9 7 5 3

~—) —) ~—)
- -1 -1

Work out an expression for the nth term of the sequence. [2 marks]

Answer - 2 "n + \ k
11 A linear sequence starts
-4 -3 -1 -6
+4 E 15 _ 11 _7 3

-~ -~ -~
-4 -4 -4

Work out an expression for the nth term of the sequence. [2 marks]

Answer - Ll'l’\ i \q

12 A linear sequence starts S o
-5 -0 -\ -1
£t G 9 4 _ -1 _ -6
S -5

Work out an expression for the nth term of the sequence. [2 marks]

Answer - Sn’ + u'k-
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13 A linear sequence starts
-°I -l% -2 -36
+lo C 17 _-26

I b

Work out an expression for the nth term of the sequence. [2 marks]

Answer _qn + \0

14 A linear sequence starts
" -1 -2 -33 -44
* 100 _89 _78 _ 67
-~ -~ -~
-1 - =1
Work out an expression for the nth term of the sequence. [2 marks]

Answer -lin + “\

15 A linear sequence starts " g
-0-0 -O 4 -0 -0
LI IR 5.6 54

-0- 'L -0-1 -0 oy
Work out an expression for the nth term of the sequence. [2 marks]

Answer -0 1“- + G’L
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16 A linear sequence starts
41 [; S 1o 5 % 25
6 511 516521 26
*S S 4§ +S

Work out the 20™ term of the sequence. [3 marks]

Sn + |
S x 20 +1
= (00 + )

Answer l O \

17 A linear sequence starts
157 13\._-,19\_325
+6 16 +6

Work out the 50”‘*te?rm of the sequence. [3 marks]
bn-S
x50 -5
= Yo0-5

Answer Zq S

18 A linear sequence starts
2 6 - 10 - 14 q18
t+4 4 + +%
Work out the 100" term of the sequence. [3 marks]

bn-2
k% 100 - 2L
= koo-1L

Answer 3 q 8
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19 A linear sequence starts
4 7 10 13 16
Is the number 91 in the sequence?
Tick one box
“
l/ Yes No

Show working to support your answer.

[3 marks]
Tn+ 1= 91
In = 90
n= 3O
\k is tve 20™ term

20

A linear sequence starts
3 7 11 15 19

Is the number 201 in the sequence?
Tick one box

Yes l/’ No

Show working to support your answer.

[3 marks]
bn -1 = 20\

4w =202

w=90-5
SO0'5 is not on wmteger
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21 A linear sequence starts
7 13 19 25 31

Is the number 124 in the sequence?
Tick one box

Yes / No

Show working to support your answer.

on +\| = |LY&
on = |23
n> 105

SO0'5S is not on mteger

22 A linear sequence starts
50 47 44 41 38

Is the number —10 in the sequence?
Tick one box

\/ /Yes No

Show working to support your answer.

-+ 53 =-10
-3n = -63
n= 2\

b is the 215 dem
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